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any of the above defects is found, get it replaced by a Complete Question Booklet
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space provided for the purpose, in the OMR Answer Sheet.
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4. This Question Booklet contains 70 questions carrying equal marks. All questions

must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with

a black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada

version, please refer to the English version of the questions.
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any further markings in the OMR Answer Sheet. Be seated till the OMR Answer
Sheet is collected. After handing over the OMR Answer Sheet to the Invigilator
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1. The World Environment Day is celebrated on
a) 6" June b) 6t August c) 51 June d) 21stMay
0B, TORT DVII), AT L3ORSOMIT
a) =R 6 Jord b) &nxe, 6 Sord C) BRI 5 Jowd d) Soe 21 Bomd

2. Carbon monoxide is a pollutant because

a) Reacts with oxygen b) Inhibits glycolysis

c) Inactivates central nervous system d) Reacts with haemoglobin
QOMOT B8, SROFETE, 500 6D

a) SREITRREI BSFRYI b) rjdﬁmo%vsdﬁwgd

c) deod TTROBOTZ) 008> BT d) &Bnerms’ w3 I3RS

3. Allthe following are consequences of air pollution except

a) Acid precipitation b) Eutrophication
c) Depletion of the ozone layer d) Global warming
/T mmmeﬁqx@ TYPTBDE,
a) o= MotdTLNT b) cdoudnesdeds”
) LR’ TS 3$owordRd d) PNET SDBIPI
4. Freon gas causing stratospheric ozone depletion is mainly released from
a) Refrigerators b) Thermal power plant
c) Automobiles d) Mobile phones
R HERACHTT LR BT TNy FTTE FRONNT BT /BoT
WRNEIRMZS
a) 8g,wBewsv” b) emﬁm Nty m@dd
C) BINPOT d) Sy Fpeanoos

5. Nitrous oxide has a life span in the atmosphere of about
a) 300 years b) 20— 100years c) 114 years d) 12years
TTITOLITOS ATHIBE 53 5, BT R00RD 22eTDIE
a) 300 IRFNed b) 20 - 100 SRFnsd ¢) 114 SRensd d) 12 SRFnsd
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6.

7

9.

10.

Which of the following is not a green house gas ?

a) Water vapour b) Oxygen c) Carbon-di-oxide d) Methane
QR BT WS LROTEY

a) QTR b) e C) RomOB & & & d) QG
The percentage of fresh water available is

a) 711% b) 100 %

c) 25% d) None of the above

SR P DT 2o DeOT BeBB T

a) 71% b) 100 % c) 25% d) cndde e
Depletion of oxygen or BOD in water causes

a) Increase in biodiversity b) Death of aquatic animals

c) Makes water more fit for drinking d) None of the above

QeOTY, B s drvgeon (BOD) 2R RoIRRII
a) BIFIG3 BY

b) medond )

c) e BRODLY o&mer&ﬁdd@p SRR

d) B8 BRJTR ©Y,

Anthropogenic causes for the increase in atmospheric CO, concentration are

a) Fossil fuel combustion b) Cement manufacturing

c) Deforestation d) Allthe above

TBIBOLTIT BOMPOT T 58 w@é T3 %@g@ BRND BRI, FOLd Q0T3
a) TPadovIne 37 b) aado0e ST

C) 0 3 d) B0edT e,

Fruits and vegetables are rich in

a) Minerals b) Vitamins c) Bothaandb d) Chitin
asaga By ITONTH BN BRI

a) DIRND b) @@oﬁﬁejg c) adRbooEe  d) Fensd
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13.

14.

15.

Vitamin ‘A’ deficiency leads to

a) Blurred toes and fingers

c) Nightblindness

A e;&gpﬁd BRT3000TNR BOFIRD
a) 30 TN THENY Ned

C) [T%ONER),

Ascorbic acid is rich in

a) Milk, curd, butter and cheese

c) Citrus fruits

Saplogaiy SR VTG, LRTEINTLT
a) T, FRID, B BB BT,

C) BOVOINE TR

HIV stands for

a) Human Immuno-deficiency Virus
c) Heavy Industrial Vehicles

HIV o 978 8

a) ar%doa‘ BRNIR ~ BRI, 3o
c) 3D aots;%om:‘ B8&B*

Who is considered as father of yoga ?
a) Charaka

c¢) Pathanjali Maharshi

clpenzRs QBOOB

a) 303 b) TooTess*

Best way of disposing bio-medical waste is
b) Open dumping

a) Incineration

MS - 603
b) Anaemia
d) Scurvy

b) T3
d) :’éar

b) Vegetables and fruits
d) Egg

b) 20520 =02 m%
d) Se

b) Hindustan Inter Virus
d) Human Intervention Virus

b) 20BRAT* ROLT* FTF®
d) BRI VT BT RS FTA

b) Ramdev
d) Bothaandb

c) TBox® WY daz=)b

c) Landfills d) Open burning

08 BROOE 2une ¥ ITFES IS

a) RBYT TBIBHII
c) FRDoehE) BRLPD

b) 383 T8 SRBWJT
d) 2&Tonzon OB
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18.

19.
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Expand NIOSH

a) National Institute for Occupational Silicosis Health
b) National Institute of Occupational Service Health

c¢) National Institute of Occupational Safety and Health
d) National Institute of Oceanic Science and Health
NIOSH 32% 8 dews

a) National Institute for Occupational Silicosis Health
b) National Institute of Occupational Service Health

c¢) National Institute of Occupational Safety and Health
d) National Institute of Oceanic Science and Health

Iron deficiency leads to

a) Anaemia

b) Improper transportation of respiratory gases
c) Increase in maternal and infant mortality

d) Allthe above

BeBBEOT 3WF03E 3R0IeD DO

a) Og&ess b) evaoets §odooD B0

C) B0 B $BoNS TR, By d) S¢S e

Siddha system of medicine is a holistic approach which is a major contribution of
a) Baba Ramdev b) Siddha Agastiyar

c¢) Ravi Shankar Guruji d) Jakki Vasudev

DOBEINTOB R:c(ia BR3 wqaaow FaR0D Beed

a) 2P T0TES” b) m;a Siaied C) ODBosT® SRz d) 8 ROTEE
The alternative system of medicine based on the principle that “Like cures like”
a) Naturopathy b) Homeopathy c) Allopathy d) Ayurveda
g5 3R0° F 33:33:;303 a’g,cgﬁeojo wz%é Q0T3

a) 3WTREDS b) Sre0cdReBe ) wdeexd d) e0303F e
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23.

24,

Dissolved oxygen in water comes from
a) Photosynthesis of aquatic plants

c) Oxidation

2e0SE) FONTS BBUITE [V

a) uoﬁﬁo‘z‘sﬁeﬁ () Ro3eRes

C) YBRFE

POP stands for

a) Persistent Organic Pesticides

c) Permissable Organic Pollutants
POP o3 &% 3 8RS

a) Persistent Organic Pesticides
c) Permissable Organic Pollutants

. Fluorosis affects

a) Kidney b) Bones
PRIREATTROT TONRRTIONIS 0N
a) SRITITON b) ¢

An example for water borne disease
a) Malaria b) HIV

MS - 603

b) Diffusion of atmospheric oxygen
d) Bothaandb

b) ERTEIT SRLBE ROO3REL
d) a3y b

b) Persistent Organic Plastics
d) Purifiable Organic Petrochemicals

b) Persistent Organic Plastics
d) Purifiable Organic Petrochemicals

003 MQDa’%aodddad FIOWSR VT VTR0

a) SoeJedod» b) 0.

c) Teeth d) Bothbandc
C) BN d) b R8¢ 23Ee
c¢) Cholera d) Asthma

Cc) %O d) o=

Itai-Itai disease in Japan caused by consumption of rice contaminated with

a) Mercury b) Cadmium

c) Iron d) Carbon

BRI I, BORNITIR BERDODI-DEION FICWESID VBT WO

a) TR b) @ 0cd0

C) B d) qorme®
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25.

26.

2.

28.

20.

30.
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The term “Ecology” was termed by

a) Ernst Haeckel b) Mendel ¢) Robert Cook
“gBoend’ TR BB

a) SRR TYFS” b) SooBe*

C) TOWEFF BOT° d) ewonm® mﬁf?
Permissible thickness of plastic cover used is

a) 40 microns b) 20 microns ¢) 100 microns
SUBOSRENTLD LTS BTN TRAF W TH

a) 40 3B b) 20 BB, c) 100 &3
Amoebic dysentery is caused by

a) Virus b) Bacteria c) Protozoa
2870 23T TOTEOT 2366

a) Foorad b) ¢38¢00dR c) Fptincnem
The chief function of vitamin K is to regulate

a) Appetite b) Blood clotting c) Resistinfection
1 emﬁoﬁd 02, FTIODF, fad&q QODOGROJT

a) 2Berargodd b) T8 IPriend  c) Aeeosd eTE
Noise is measured in

a) Frequency b) Decibles c) Dobson

BB SeIBODR), LPoIT wewRRT

a) 2corwosd b) Zawer C) VRS

The pH level of acid rain water is

a) 5.7 b) 4.0 c) 56

553, &% QedS pH Toed

a) 5.7 b) 4.0 c) 5.6

[T

d) Louis Pasteu

d) 10 microns
DRI
d) Fungi

d) &deogy

d) Blood thinning
d) o8 Ssbsordat
d) Velocity

d) Ser

d) 6.0

d) 6.0
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31. The birth of autistic children in Dakshina Kannada District is due to the use of

pesticide
a) Endosulfan b) Metacid c) DDT d) Atrazide
ffa0) z?zgtd BGoDd PnneY, won agﬁe%so:ood 2R3 d:ifp uami BB
3_3)31333 3et3TOTE ]
a) DOERERRT b) ot c) dAL d) ey
32. Energy stored in the earth is
a) Magma b) Geothermal c¢) Tidal d) Wind
Braed IPRY, BN 3§
a) @1y b) BodReRRFe®  C) YRS d) me
33. Knock-knee syndrome is caused by
a) Fluoride pollution b) Land pollution
¢) Mercury pollution d) Arsenic pollution
“F-DE TOVSOID VBT TOFwIR :
a) R SR b) e IO,
c) TSR INOT, d) ©o'ReRE RIRIF,
34. The eco-friendly fuel is
a) Petrol b) CNG c) Kerosene d) LPG
TORT Rt Q0TI iVt
a) Sedpee* b) 2.a%°.2. c) kea"a@ﬁm d) QoF.&.2.
35. Expand BOD
a) Biology of Development b) Biological Oxygen Demand
¢) Bio Oxygen Deformation d) Biological Organic Deterioration
BOD o3> %3 83
a) Biology of Development b) Biological Oxygen Demand
c) Bio Oxygen Deformation d) Biological Organic Deterioration
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36.

37.

38.

39.

40.
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Natural aerosol amongst these is

a) Salt b) Soot c) CFC d) Silver acetate
QT AL momcjd% TR

a) o) b) Sar

c) CFC d) 2390 ertdets

Which among these is a life style disorder ?

a) Typhoid b) Cholera c) Obesity d) Dysentery
B3 BN o) 2eBIBRORTNS ea;;‘\»;é 9

a) TS %0 b) o3 c) W), d) &0308
Bio indicators of air pollution is

a) Algae b) Pinus c) Lichens d) Fem
00 BROZT ¥ D8 Reedendons

a) oo b) J=* C) 3 e d) =de N
A balanced diet should have the following in required proportions

a) Carbohydrates b) Proteins

c¢) Vitamins and minerals d) Allthe above

RARBREOT S5T0m) RTOT BRRAZE

a) 3BF3 JFMH b) Bpeseonsd

C) DEQFTNLD 3B DA d) 85 @o3nsh

Home remedy for common cold and cough is

a) Cinnamon and honey b) Apples

c) Curry leaves d) Aloevera

ROBRT, Q0B ée@?ﬁ AT IS T,

a) Y R Wexd>  b) Feew c) 3023ey) d) ecdness

SPACE FOR ROUGH WORK




VIO M-

41.

42.

43.

Goddess of medicine is (of Greek origin).

a) Hypiea b) Aesculapius c) Panacea
nes* BeBoY, ITOTE BRET pT3e3

a) FoIR b) sa"ER e C) T3eao3m
Ozone hole formation is maximum in

a) Africa b) India c) USA
botdnes® VBT S B, LBRTENTZT

a) B b) 03 C) O30T
Polio-myelitis is due to

a) Fungi b) Bacteria c) Virus
Tpedodne By Ouea o030 ATOOTNIBT

a) ddeorned b) w38¢00® c) Sooe

Bagassosis is due to

a) Soil dust b) Manganese dust c) Cane fibre
WIMAREAT® [TOOT VTIDROTZT

a) 33&396 DR b) Swone® b ¢) ﬁwj we

. Sick building syndrome is due to

a) Cladosporium b) Bacteria c) Aspergillus

2T SRR ARRF B FodeE

a) RERFROHST b) W IeOIR C) SR ROV,
. Chief component of bio-gas is

a) Hydrogen b) Methane

c) Carbon-monoxide d) Sulphur

F OB QOT Joo, LB

a) BORIP b) Qoges*

C) ROMOT BRTE, & d) nogs

MS - 603

d) Phoenix

d) e,

d) Antarctica

d) e0enedFs

d) Protozoa

d) Bpeedednessd

d) Cotton fibre

d) BN

d) Algae

d) o8
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59.

61.

62.

63.
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The stimulant present in Tobacco is
a) Caffeine b) Tannin c) Nicotine d) lodine
BowsIOTI euersEnd 903
a) 3° b) &5 c) Jdetd® d) ©odeelx®
. Oncology is the study of
a) Bones b) Cancer c) Nerves d) Muscles
RORTRT 3,030 BT BOWORRTI
a) S b) enwrs c) 30 d) R»o3DoB
Lower level of platelet count in blood is the symptom of
a) Typhoid b) Malaria c) Diabetes d) Dengue
BT, TSN Ro, QERNDTNORT 83 BRENT oijp
a) aRBBeS % b) Soe3edodn C) AT, d) dong

According to Biomedical Waste (Management andHandling) Rules 1998, waste
should not be stored beyond

a) 12 hours b) 48 hours c) 72 hours d) 96 hours
g,g; B0 39,579 00000 1 9983 K500 88 TYHNI), LUVRBRY W o

a) 12 rotdnsh b) 48 notdnsd c) 72 noednsd d) 96 nogdnsd
In Ayurveda Tridosha means

a) Vata, pitta, kapha b) Physical, psychological, spiritual
c) Bothaandb d) None of the above

S030BF T FT, wz:gaocboﬁ TR 20033

a) w3, &3, 3P b) w’aag, BoSRE, SeR3E

c) axdxb d) S0edS NPT LY,

. The enlargement of thyroid gland is due to the deficiency of
a) Fluorine b) lodine c) lron d) Zinc
Foa0dy?, TR Grgod BTs 3RTENTRNIEE
a) Fpo* b) ©cdpeds* c) ﬁz:z;a d) =z
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65. When was family planning initiated in India ?

a) 1950 b) 1951 c) 1952 d) 1953
PT3TE. Bot300w) C3ersSed L30T WO SR
* a) 1950 b) 1951 c) 1952 d) 1953
. 66. Solar radiations consists of
a) UV radiations b) Visible radiation c) Infra red radiation d) All these
RR03F TY030 BT300E BRRTIZE
a) 8 S¢0¢ 306D b) Qe* 3Te9 c) 8 3ox) 80 d) S0edT e
67. Unani system of medicine originated in
a) Paris b) Iceland c) Poland d) Greece
03T FT, @’cgéom MBI c‘aﬁg
a) D0%° b) oo c) Zpeor’ d) nes*
68. The biological decomposition of organic substances in controlled conditionis
a) Sanitary landfills  b) Incineration c) Composting d) Pyrolysis
ATODT WIS 0T Depeasodd QI
a) QL0 R,0T Yo b) BRI
c) riroz%d TORSFS d) Fceedra®
69. Chemicals released in the human body in response to allergens is
a) Histamines b) Antihistamines
c) Phenols d) None of the above
2e08d TN &z&%ﬁ BeRTY, GV Z0INI (eanlevey:]
a) &R b) esoe3daRe30"
C) T’ d) 30T cRJYD @)
70. Protein deficiency leads to
a) Kwashiorkor b) Scurvy c) Beri-Beri d) Pellagra
Fp e 3030 [T, FoTaINIZTI
a) a?sz;oiraeirc' b) ;'gébr c) 30-230 d) S,
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